N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F 2 F 2 Q
g .f g . g g
=0°F =10°F s s
E <] E L
E s f £° &
10°F 1 £
E E =]
E E ©
wl 100k 10?
10%F 10%F
E E 10
10F 10F
° K i PN TI
g ol al—mkp.mewwp B RESD.
24 T T
2 -
1.5]
| SR A U1 | SRR A | | R I I IO SO IO O
-25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 —-25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L L 2
5] L [*] 5] 5]
g . g s g
B0 l 0 5
E ; 2 $o g
F : =
10° 10° 310
: 10?
107k 10?
[ : 10
10E_ A 10
.................... H 1
— o k=) o
. © < 14 ©
04 14 o4
----------- 1.2]
0 : : E : Tt godt : : : : : :
10 20 30 =30 -20 -10 0 10 20 30 -30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


